= o
A & 0l & AF 2 E A A
AN ZHMLSH
Hu: MUFE
el MEANE 2435 (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Z M E Dt 11,152,844 12,141,847 989,003
= 370,640
Xl 600,000
J| 1,100
< 287,100
s 9,894,004
MHFES 392,471 378,401 14,070
HSANE 243 225,951 210,431 15,520
HSAE 243 & AMES w22 225,951 210,431 15,520
201 et 62,440 46,920 15,520
01 At 22l 11,240 4,320 6,920
< YEt=2Hl > 0
o HSANYE 243t 222 WA
500,000& = 2& * 23| 2,000
o HSAE dI|tE2e 24
135,000& = 128 * 20 A 3,240
o HSANE agotd2e 229
250,000& = 1238 * 204 6,000
02 =224l 41,200 32,600 8,600
< BEQSZLHA > 0
o 5PANE ML=
250,000 * 30 * 128 9,000
o 5UNT +E23
200,000 = 3 * 128 7,200
< ANEFUISXY > 0
o EE, MHEl, AtE, 2HUZEH A2
5= Xl gl 6,250,000 * 40 A 25,000
03 A2 Z Hl 10,000 10,000 0
o MSAIE HAEE 10,000, 000& 10,000
307 glz2+ol & 17,511 17,511 0
05 RIZt2E = 17,511 17,511 0
o SAZ IS F¥ ¥4 A3 17,511
- ANZ e AR (HE AR AAR])
48,6403 * 5% * 62 * 128 17,511
401 AIEHI L 201 146,000 146,000 0
01 A& HI 146,000 146,000 0
o AZEAE 2XAMLH 22 (5-25Xt)
146,000, 000& 146,000
NS ZH e st 15,960 16,410 A 450
ZH &4 st 15,960 15,960 0
201 L2l 5,460 5,460 0
01 At 22l 5,460 5,460 0
<2gsy > 0
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SN ZHRSD
Ha: NATE

S NEZHEHS (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
S LN AAG BASY
70,000 * 129 * 13| 840
< S EHl > 0
o ARIH ALEF Y|
,0008 « 4% x 165 4,620
202 044l 7,500 7,500 0
01 2L Y| 7,500 7,500 0
o BHAE ARFA 20,000& x 5 x 75 7,500
203 &2 =&XH| 3,000 3,000 0
03 AIZH =& 2= X H| 3,000 3,000 0
o MNE gRF4 750,000 * 4=2D| 3,000
MILEAHS X3 22 150,560 150,560 0
AL EA B 150,560 150,560 0
201 B9 560 560 0
01 AP 22| H| 560 560 0
<g2gxE > 0
o AMZIBOIXIAMNRAZ HALH
70,000 * 4¥H x 23] 560
307 gizto| A 150,000 150,000
02 QI2tAAMAIE E =X 100,000 100,000
o AAZO XKA(HBZAUZ) 100,000,000 100,000
08 OIXIEE 2 50,000 50,000
o AMZO XA(NXNEH, BE4L42)
50,000,000 50,000
nEy A 6,847,652 6,179,881 667,771
= 15,600
N 600,000
o 270,000
= 5,962,052
249 22 ¥ X 5,708,741 6,046,941 A 338,200
= 15,600
o=} 270,000
= 5,423,141
HIALHE =ABAZ X 1,056,461 1,056,461 0
= 40,000
= 1,016,461
307 QI2t0| & 1,056,461 1,056,461 0
& 40,000
= 1,016,461
09 LLAHEXS 1,056,461 1,056,461 0
o HIlLHd &ABAMZ 1,056,461,000& 1,056,461
& 40,000
= 1,016,461
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AN ZHMLSH
M DsHE A
Sl 24N ol ¥ X CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2x8Hd RItEx3 A& 3,960,000 3,960,000 0
307 gl2tol & 3,960,000 3,960,000 0
09 2HAHAEXS 3,960,000 3,960,000 0
o 28HM SMHEXZ  330,000,000& * 122 3,960,000
AT SAH2=LH HEXH 450,880 865,880 A 415,000
= 180,000
i 270,880
307 g1+l & 45,880 45,880 0
09 2+HAHEEXS 45,880 45,880 0
o BAYSLS BSE 2aBHE
7,750,000& = 43| 31,000
o HASMNE ¥ HELLE N
10,0003 = 128 = 12404 14,880
402 BI2FX=01 M 400,000 820,000 A 420,000
< 180,000
s 220,000
02 It EAILEZ (01X S) 400,000 820,000 A 420,000
o SEHA 2E5EM HEXR
100,000,000& * 43| 400,000
< 180,000
e 220,000
403 X SHHSA=0l& 5,000 0 5,000
02 I 2S0CHet A== OHa At H 5,000 0 5,000
o A RHFE2AAAY A= 5,000,000 5,000
LAl 2 XE A ALY 52,700 52,700 0
= 15,600
e 37,100
201 LBt 700 700 0
01 At 22l 700 700 0
<2gsy > 0
o HARTIAS BAaY
70,000& * 59 = 23| 700
307 21201 A 52,000 52,000 0
= 15,600
s 36,400
09 2HAHAEXS 52,000 52,000 0
o EHAIZX S&AS 13,000,000& * 4CH 52,000
= 15,600
e 36,400
WEALX OlsH SAXNE 2 76,700 1,900 74,800
201 ¢4l 700 1,900 A 1,200
01 At 2t 2l 700 1,900 A1,200
<2Ysy > 0
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2A4: BHEDN
MM NESHH WA
Sl 24N ol ¥ X CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
c NESNOSHOZNAE BALY
70,0008 = 5H * 23| 700
307 2iz2to| & 76,000 0 76,000
05 QIZ2tREF 2 76,000 0 76,000
o NEAXN0SH XN Iy 29
19,000,000 = 4& D] 76,000
1003 E&HAIZH 112,000 110,000 2,000
o=t 50,000
= 62,000
201 gBt2Ay| 2,000 0 2,000
01 AP 2t 2| H| 2,000 0 2,000
o 100 Al Ol M2 2,000,000 = 13| 2,000
307 2iztol A 110,000 110,000 0
&< 50,000
= 60,000
09 2LHHEXZ 110,000 110,000 0
o 1002 EA 28 EX 3
110,000,000 * 14! 110,000
& 50,000
= 60,000
=zswns g43 1,121,171 120,600 1,000,571
Xl 600,000
= 521,171
SEHA EXE JH AFY 20,000 15,000 5,000
401 Al HIZL 2 0HY| 20,000 15,000 5,000
01 Al&H| 20,000 15,000 5,000
o SEHA TXE HH| 500,000 * 4000 A 20,000
nNEHAN 72,600 105,600 A 33,000
201 LBt | 1,680 19,680 A 18,000
01 AP 22| d| 1,680 1,680 0
< Z22H| > 0
o NERN A2XZT 2|
7,000 * 4% « 30 840
<Y LG > 0
o DEUHFMMAG HaaY
70,0008 * 6Y * 23| 840
202 o4 | 2,920 2,920 0
01 2Ll 2,920 2,920 0
o NEMH AR 20,000 = 29 » 73¢ 2,920
207 I & 50,000 50,000 0
01 A& | 50,000 20,000 30,000
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2N
X ZH -
L= B

el

AHRED
DEHF N

S o

HEsuns 24835

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o HM3X tHEnsSJi2AE(REARI2HE,
BHUENLAHE)ESA 30,000,000& * 14 30,000
o ZEHA SHLM MEZA B
20,000,000& = 13l 20,000
307 gl2tol & 8,000 6,000 2,000
02 IZHE M AHE L 8,000 6,000 2,000
o wsSXE BHe &5 XN 6,000,000& 6,000
o BDY OR0 DEIN HE XA (SM0H
Lal) 2,000,000& 2,000
401 A& HIZ 201 8] 10,000 7,000 3,000
01 A& HI 10,000 7,000 3,000
o Al =XE =4 5,000,000& * 2044 10,000
FAUSEMNLAXNANG (XE) 600,000 0 600,000
Xl 300,000
s 300,000
401 AIEHI L 2CHEI 600,000 0 600,000
Xl 300,000
s 300,000
01 A& HI 596,244 0 596,244
o BHY B DATUE X4
596,244,000& * 14l 596,244
Xl 298,122
s 298,122
03 Al 2 0HHI 3,756 0 3,756
o L9 s SIFIUE =4 3,756,000 3,756
Xl 1,878
e 1,878
stE2ltsXt SEXDX ALX 428,571 0 428,571
Xl 300,000
= 128,571
401 Al HIZ 201 Y| 428,571 0 428,571
Xl 300,000
s 128,571
01 A& HI 425,508 0 425,508
o 3=i 3EX1AX &4
425,508,000& = 14 425,508
Xl 298,468
e 127,040
03 Al SR THHI 3,063 0 3,063
o st=A SEXIDR =4 22l 3,063,000 3,063
X 1,532
s 1,531
Hsx s52eal 17,740 12,340 5,400
AsHEE 22 17,740 12,340 5,400
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M ZHRS
HM: PDEHE

e Asx SsS522 (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 5,620 5,620 0
01 AP 22| H| 5,620 5,620 0
< 2Bt ZH| > 0
o INSXNSEE AR2F ol
20,000 * 10& 53| 1,000
< Z22kH| > 0
o MSASE gL2F8 =
7,0008 * 4% * 165 4,620
202 044l 6,720 6,720 0
01 2Ll 6,720 6,720 0
o MsSXUHSEYR =X
20,0003 * 49 x 84 6,720
207 A O 4| 5,400 0 5,400
02 & AP Y| 5,400 0 5,400
o 288 EXAAE A2
450,000€ * 12€ 5,400
Ol 4 XIS AHR O et 3,092,845 2,165,270 927,575
= 355,040
J| 1,100
= 17,100
= 2,719,605
WSEOHME AMSD| AX 2 22| 153,800 169, 100 A 15,300
MSI Ax £ WAH 153,800 169, 100 A 15,300
201 et | 34,800 34,800 0
02 2324 34,800 34,800 0
< BZ2L2YLHAM > 0
o DSHSS ¥ YES HIIRS
2,900,000& = 12&€ 34,800
206 M 2 dl 20,000 13,300 6,700
01 =4l 20,000 13,300 6,700
o NENSE B2 M 7Y 20,000
- WEANMSHAII 5,000,000 * 2904 10,000
- d2HAHI 500,0008 * 1004 2 5,000
- WE NS S(LED) 500,0008 * 1004 & 5,000
401 Al HI L £ 0HHI 99,000 121,000 A 22,000
01 Al& B 99,000 121,000 A 22,000
o NEASTSE ANEE SREx
3,000,000 = 10902 30,000
o NSKES ¥ ZBES LHMSA
10,000,000 * 302 30,000
o WESd3SS HOIE LWHBA
8,000,000 * 2002 16,000
o HAZES WHZ2A 2,000,000& * 400 8,000
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= DA ]
SIS PN DA 1=

=

D NSoHA MSI| AX Y 22 ool E )
SN HH-S(BN) - MBAY - B il HlnE2
o NSANEE 28 EF3SM
300,000& » 500 & 15,000
X0 JI2s 22l 872,640 817,765 54,875
IFE2SLH ¥ FX 2 872,640 817,765 54,875
201 L2l 432,240 492,180 259,940
01 At 22l 3,600 3,600 0
< ystagY > 0
o JIES EFE AZE 4Y
30,000& = 108 = 123l 3,600
02 =224l 428,640 488,580 A 59,940
<SS sZHMA > 0
o JEs MIIes 426,240
- 2 S(SEH) 5,0008 * 2,0008 * 128 120,000
- BOorS(HMA) 4,4009 * 5,800 * 12¥€ 306,240
< AN&EFUI XY > 0
o JI28 &2 E20Y SANE
200,000& » 12& 2,400
206 M= Hl 93,000 62,880 30,120
01 =8l 93,000 62,880 30,120
o 28 B8 MM 78,000
- gz 31,250& = 405 » 12& 15,000
- QtE D] 31,2503 * 405 ~ 123 15,000
- X0 Z OJlE 20,000& = 508 » 12& 12,000
- LED JtI& S 300,000& = 105 = 12& 36,000
o MItA UNsFEZDI 50,000& = 3004 15,000
401 Al HI & 28I 347,400 262,705 84,695
01 A& HI 346,000 261,305 84,695
o LED Jt28 &X ¥ LA
1,500,000& * 100& 150,000
o RS HAZel oA
66,000& * 2,500 165,000
o Jt2S MIItd FHE L FHI
100,000& * 1007H £ 10,000
o Jlzs HE HHE 10,000& * 2, 1004 21,000
03 AIE =TI 1,400 1,400 0
o JI2s KA ¥ 0l4, WA, &X 22
1,400,000& 1,400
aldxolg s& 2,066,405 1,178,405 888,000
= 355,040
| 1,100
< 17,100
i 1,693,165
ATHEH UK ES =SHXA 51,505 115,905 A 64,400
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2N

X{ XH -
S =

£

ZHnESn

Off LA RIS R OH &

sadxolE 58

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
== 12,600
s 38,905
201 LBH2E| 4,465 4,465 0
01 At 22l 4,465 4,465 0
< g =24 > 0
o MUXZESY 222 WH
1,000& = 5& = 2000H 1,000
< Sl > 0
o X FRFI Sl
7,000& * 3¥ = 165¢ 3,465
202 O4dl 5,040 5,040 0
01 = LHA YI 5,040 5,040 0
o fUXNg® =& 20,0003 = 39 » 84 5,040
402 2I2H X201 M 42,000 106,400 A 64,400
< 12,600
= 29,400
02 22t X2 AL E = (01X THE) 42,000 106,400 A 64,400
o MIHMUHUXES =HXE At
1,400,000 * 300t+ 42,000
< 12,600
[ 29,400
SAIIMA BESAMY 1,500,000 1,000,000 500,000
402 2I2H X201 M 1,500,000 1,000,000 500,000
01 2IZEHE2AE B (KM ) 1,500,000 1,000,000 500,000
o TAIMA B2 187,500,000& * 8JH & 1,500,000
2L FHISG JI2XN2 AL 1,100 1,300 A 200
| 1,100
405 XHoHF S HI 1,100 1,300 A 200
| 1,100
01 et EFHSHI 1,100 1,300 A 200
o HJH ISH? HAS HES 7Y
1,100,000& * 13 1,100
| 1,100
NOE JIAQFMEXI(EIOIHE) B2 AtE 15,000 15,000 0
= 4,500
[ 10,500
403 MtXISHHE X201 & 15,000 15,000 0
< 4,500
e 10,500
02 SO 2SOHHEHAHE2 X HE AL B 15,000 15,000 0
o NS JIAHMEXI(EIOIHZ) ES ALY
50,000& = 300AllCH 15,000
< 4,500
[ia 10,500
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2Ah: AHRDSD
PN NE DNE=IDNEZ I/ R=T3
@2 fdxolE s

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
MBIE JtAAAE e 58,800 46,200 12,600
= 47,040
s 11,760
403 UHXISHHSA=0l& 58,800 46,200 12,600
= 47,040
s 11,760
02 SJ1 2SO0l CHSt At 2 X CH & AF & I 58,800 46,200 12,600
o MOS JtAAAE W& AL
245,000& * 2400t+ 58,800
= 47,040
s 11,760
FHAHS X=X 440,000 0 440,000
=2 308,000
s 132,000
403 A X EHHSH20IA 440,000 0 440,000
= 308,000
[ia 132,000
02 SJ| 2SOl CHSHAt 2 X CH & AF I 440,000 0 440,000
o FHAHNS HX=XI(LED M)A
440,000,000& = 14 440,000
=2 308,000
[ia 132,000
#Y2LIH (FHNRSY) 56,278 58,295 22,017
el 2 34,042 36,059 22,017
ol 2| 34,042 36,059 22,017
101 @14l 34,042 36,059 A2,017
01 2 34,042 36,059 22,017
< =g > 0
o AN22RE
9,649& * 14H « 21A12t = 128 34,042
Jl=234l 22,236 22,236 0
Jl2zl 22,236 22,236 0
201 et 19,236 19,236 0
01 At 2teltl 18,731 18,731 0
< YBt=ZH| > 0
o ARES 7Y 8,000& * 208 * 73l 1,120
o SAMEXN 7L 25,0003 * 202 A « 103 5,000
o HFESE ¥ 1,800
- e 2002 « 50004  12& 1,200
- g 50& = 1,00000 = 12& 600
o diold Zey A8 ¢ 2,550
- 250,000& « 3CH 750
- El 150,000& = 608 = 23l 1,800
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EA: MRS
M HHSHYAH (FHMDED)

oo oo

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

o EANIAZE P2 1,385

-cg 660,000& = 1CH = 13 660

- El 145,000 = 104 = 504 725

o AFRIIII(2AD],Z2IE) =2l 900

- SAH| 22l 600,000& * 1CH 600

- T2y %2 300,000& * 1CH 300

o MNEFR=EZ 3,480

- 524X 18,000& * 58 * 12& 1,080

- X &X 10,000& = 208 = 128 2,400

o AIRA M2 5,000& * 20& * 12& 1,200

o LEMA ROl 500& * 4F x 4500H 900

o Wdlas 33,000 ~ 104 ~ 12& 396
02 332494l 505 505 0

< SS=aLHA > 0

o RERZ 300& * 5000H 150

o RUYSAEE 8,800& * 1CH  12& 106

< HAZHl > 0

o kY| 920& « 904 = 3& 249
203 € R =&lY| 3,000 3,000 0
04 2SI L RF=AH| 3,000 3,000 0

o 1501 0| 3at 250,000& = 12& 3,000
HWeES(ZRDED) 763,598 3,360,000 A2,596,402
WEHAH X = 763,598 3,360,000 N 2,596,402
= Heh X 5 763,598 3,360,000 £2,506,402
701 JIEIS HSEHES 763,598 3,360,000 N2,596,402
01 JIEtSI AN ES 763,598 3,360,000 N 2,596,402

o SYHOIE2ILASEIH &3
54,103,000& 54,103
o FIUHESIGEYIH &= 709,495,000 709,495
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